
required. Gamber-Johnson specifically disclaims any responsibility for the improper use or installation of its products not consistent with the original vehicle manufactures specifications 

Product Mounting Disclaimer 
Gamber-Johnson is not liable under any theory of contract or tort law for any loss, damage, personal injury, special, incidental or consequential damages for personal injury or other damage 
of any nature arising directly or indirectly as a result of the improper installation or use of its products in vehicle or any other application. In order to safely install and use Gamber-Johnson 
products full consideration of vehicle occupants, vehicle systems (i.e., the location of fuel lines, brakes lines, electrical, drive train or other systems), air-bags and other safety equipment is 

and recommendations, Gamber-Johnson product instruction sheets, or workmanship standards as endorsed through the Gamber-Johnson Certified Installer Program.
required. Gamber-Johnson specifically disclaims any responsibility for the improper use or installation of its products not consistent with the original vehicle manufactures specifications 

Product Mounting Disclaimer 
Gamber-Johnson is not liable under any theory of contract or tort law for any loss, damage, personal injury, special, incidental or consequential damages for personal injury or other damage 
of any nature arising directly or indirectly as a result of the improper installation or use of its products in vehicle or any other application. In order to safely install and use Gamber-Johnson 
products full consideration of vehicle occupants, vehicle systems (i.e., the location of fuel lines, brakes lines, electrical, drive train or other systems), air-bags and other safety equipment is 

and recommendations, Gamber-Johnson product instruction sheets, or workmanship standards as endorsed through the Gamber-Johnson Certified Installer Program.

Printing Spec: 

© copyright 2016 Gamber-Johnson, LLC

 PS-001

INSTALLATION INSTRUCTIONS
Product Revision Form 

If you need assistance or have questions, call Gamber-Johnson at 1-800-456-6868

legs, and can be trimmed after installation.

7160-0418:  YALE ROLL FORM BRACKET
7160-0814:  JUNGHEINRICH/CAT ROLL FORM BRACKET
7160-0815:  LINDE ROLL FORM BRACKET

hardware provided.  The 6" carriage bolts are for larger roll formed overhead guard 

The following instruction sheet is for mounting the roll form brackets, listed above, to an 
overhead guard leg of a fork truck.

Mounting the products to the overhead guard leg:  (See Figure 1).

The brackets are designed to attach to the roll formed overhead guard legs on a fork 
truck.  The brackets are held in place with 3/8" diameter hex bolts and carriage bolts.

Attach the clam shell or horizontal extension bracket (sold separately) to adapter 1.
bracket 1 with 5/16" flat washers, lock washers, and hex nuts.
Clamp the adapter brackets to the roll formed overhead guard leg with the 3/8" 2.

Figure 1

1/2

REV. C INST - 567

Roll Formed Overhead Guard Leg

Hex Nuts

Hex Nuts
Lock Washers, &

Adapter Bracket 2

& 2" Hex Bolts
3/8" Lock Washers,

3/8" Flat Washers

5/16" Flat Washers,
Lock Washers, &

3/8" Carriage Bolts



Example 1:
7160-0418 Roll Form Bracket•
7160-0363 Horizontal Extension Bracket•
7160-0366 Dual Clam Shell With Small •
Plate

Position so this surface 
is relatively level

NOTE:  1/4" bolts and flat washers (provided) 
can replace the lever handles or be 

installed in the open location opposite the 
lever handle to lock the clam shells in place.

NOTE:  The 3/8" pivot bolt 
can be tightened to lock 

the mount in place.

NOTE:  Position the 3/8" 
carriage bolts as close to 
the overhead guard leg 
as possible to prevent 
bowing the components.

Example 2:
7160-0418 Roll Form Bracket•
7160-0420 Dual Clam Shell With 3" Arm•

NOTE:  1/4" bolts and flat washers (provided) 
can replace the lever handles or be 
installed in the open location opposite the 
lever handle to lock the clam shells in place.

Position so this surface 
is relatively level

NOTE:  The 3/8" pivot bolt 
can be tightened to lock 

the mount in place.

NOTE:  Position the 3/8" 
carriage bolts as close to 
the overhead guard leg 
as possible to prevent 
bowing the components.

NOTE:  The components to build an overhead guard leg mount can also be purchased 
separately if required.  The hardware to assemble the Secondary Clam Shell or 0-90 
Clevis to the lower portion are provided with each assembly (7160-0371 or 7160-0356).

2/2


